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1. What does Sara like to eat?

A. Fish and meat. B. Cabbages and tomatoes. C. Cabbages and meat.
2. What's the man’s telephone number?

A. 4031920. B. 4567089. C. 4667089.
3. What’s Tom doing?

A. He’s working. B. He is doing his homework.

C. He's watching TV.
4. What does the woman think of the exam?

A. It’s easy. B. It’a difficult. C. It’s the most difficult.
5. How old is Jenny now?

A. 20. B. 25. C. 15.
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6. Whom does the policeman want to talk to?

A. A boy. B. The mother. C. The father.
7. Where is the mother working?
A. At home. B. In the garden. C. In the company.

ZRETERME EXES M.
8. What's wrong with the woman?
A. She has a cold. B. She is very tired. C. Her back hurts.
9. What did she try to do?



A. To move the piano. B. To play the piano. C. To make the piano.
S RECEME BENIOE 12H,
10. Where does the story probably happen?
A. On the way home. B. In a shop. C. Qutside the house.
11. What do you know about them?
A. They don’t know each other.
B. They know each other.
C. They meet each other for the first time.
12. What’s in the package?
A. The key to the door. B. The things for the picnic.
C. We don’t know.
MW o RME, EXNE 13 E 16 .
13. How long was the flight to London delayed?
A. One hour. B. Six hours. C. Five hours.
14, What does the woman think of the delayed of the flight?
A. It’s not strange. B. It’s wonderful. C. It’s strange.
15. What is her son doing in London?
A. On business.
B. Study in a university.
C. Visiting London.
16. Why is the man a bit nervous?
A. Tt’s the first time for him to take this flight.
B. It’s the first time to tatk to her.
C. It’s the first time to make a trip by plane.

A WRICRVE EER17E20M.

17. ____ has a long history.

A. Basketball B. Sailing C. Long jump
18. ___is one of the newest in the family of sports.

A. Chinese wushu  B. Swimming C. Water-skiing

19. Why do people all over the world enjoy sports?
A. Because they are healthy. B. Because they are happy.
C. Because they want to live longer.
20. Why do some people get excited when they watch a game?
A. Because their favourate team wins.
B. Because they win the game.

C. Because they get the good news.
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1. What’s the correct time?

Al 11 30, B. 11: 33. C. 11+ 27

2. Why did the woman have to walk?

A. Her car was separated into parts in the drive way.
B. She got up too late to catch the bus.
C. Something happened to her car.

3. What’s the man’s opinion on TV program?

A. Interesting. B. Not interesting. C. Terrible.

4. What does the woman mean?

A. She can help him. B. She’s clever C. She does the exercise.
5. What does the man want to do?

A. To get out to work.  B. To get out to walk. C. To stay at home.
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6. Where does the woman work?
A. In a post office.  B. In a police station. C. In a hotel.
7. What does the man want the woman to do?
A. To go to Room 2003. B. To answer a question.
C. To take a message.
ZHETRAB OEESOHE.
8. When did they meet last?

A. Two years age. B. A long time ago. C. Two years later.
9. What’s relationship between them?
A. Friends. B. Neighbours. C. Workmates.
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10. What's it like yesterday?
A. Tt was hotter than today. B. It was not hot.
C. It was not hotter than today.
11. How long will the hot season last?
A. More than three months. B. Maybe three months.
C. Less than three months.
12. What does the woman think of the hot season?
A. She hates it. B. Hot season does good to us.
C. Hot season does good to harvest.
MATSE I BME. EIEE13E 16 M.
13. How is the man going to Conference Centre?
A. By car. B. By bus. C. On foot.
14. How far is it to the Conference Centre?
A. Ten miles. B. Ten minutes’ walk.
C. Ten minutes’ drive.
15. Where is the Conference Centre?
A. At the right side of the hotel.
B. At the left side of the traffic light.
C. At the top of the hill.
16. Which is the right order to the Conference Centre?
A. Hotel=Church Road—~North Street.
B. Hotel—traffic lights—=Church Road.
C. Hotel—=North. Street—>traffic lights.

AR ICRME OEEITEWE.

17. The exam will take place on .

A. next Tuesday B. a Thursday C. next day
18. _ gives the talk.

A. A teacher B. A monitor C. A parent

19. What should the students bring with themselves to the exam?

A. Some essays (i 30). B. Mid-term test, C. A few pens.
20. When is this talk most probably being given?

A. During the first week of class.

B. On the last day of class. . C. On the last day of exam week.
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1. Will the man do his English homework?
A. Yes, he may do it. B. No, he doesn’t want to do it.

C. No. he isn’t allowed to do it.

[

. What are the man and woman discussing?
A. A doctor they know. B. The woman’s health.
C. The changeable weather.
3. Is the man able to buy a new car?
A. Yes. because small cars are very cheap.
B. No. because small cars are not available now.
C. No, because he has not got enough money.
4. What information can you get from this conversation?
A. The man isn't going to learn Chinese.
B. The woman is learning English and Chinese.
C. The woman may probably begin to learn Chinese.
5. What does the man mean?
A. He will not learn computer language.
B. He has no idea of computer language.

C. He doesn’t like to use computer language.
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6. How will Jane get to Shanghai?
A. By sea, B. By air. C. By train.
7. Why didn’t Jane’s friend tell her the news yesterday?
A. Because her friend couldn’t get her through.

B. BRecause Jane was too busy.



C. Because her friend was also very busy.
ZRETERME BIEES. M.
8. What's the weather like in winter in his hometown?
A. It’s very dry. B. It’s cold but dry. C. It’s cold and wer.
9. What’s the weather like here vesterday?
A_ It was sunny. B. It was rainy. C. It was snow.
ZRESERME. EEE 10E 124,
10. Where did John work before he lost his job?
A. In the northeast of England. B. In the northwest of England.
C. In the southeast of England.
11. What did the man carry when he ran into carriage?
A. A great deal of money. B. Une-way ticker. C. A gun.
12. Who was John most afraid of?
A. The robber on the train. B. The conductor. C. The man with a gun.
mFEIRME OXELI3EI6H, )
13. English people talk much about the weather because L
A. the weather changes a lot in a day B. they like the weather
C. there are four seasons in a day
14. According to the passage the weather in the morning will be ___ .
A. winter of a day B. spring of a day C. summer of a day
15. In the afterncon, when the sun shines, it will be .
A. hot B. cool C. warm
16. In England. if you don’t take an umbrella or a raincoat in a sunny morning,
you will . :
A. be looked down upon there B. be laughed at there
C. regret later in the day
B 10 BHRL EES 17 E 20 8.
17. How many characters are there in this passage?
A. Three. B. Five. C. Four.
18. How many times did the three man miss the train?
A. Many times. B. Three times. C. Twice.
19. Why couldn’t they get on the train?
A. They had a drink. B. They went to the bar.  C. The train left too scon.
20. Why did the man laugh?
A. Because it was funny to miss the train.
B. Because he didn’t have to go to London.

C. Because his friends made a funny mistake.
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1. What did the woman have supper?

A. Noodles. B. Salad. C. A piece of bread.
2. What jobs do women do in Britain?

A. All kinds of jobs. B. Some kinds of jobs. C. Engineers.
3. Where does the conversation take place?

A. In China. B. In Egypt. C. In Spain.

4. What’s the relationship between the two people?

A. Friends. B. Strangers. C. Classmates.
What are they talking about?

A. A new film. B. A new play “The Red Roses”.

[ ]

C. A pop group.
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6. Where does this conversation take place?
A. In a store. B. In a factory. C. In a museum.
7. What is the most probable result of the conversation?
A. The man got his radio repaired.
B. The man got a new receipt.
C. The man got a new radio.
ZWETEME EEESIE.
8. When is Alice’s birthday?
A. The next day. B. The day after next.
C. The day they had the talk. '
9. What will the man and the woman buy for Alice?
A. A record. B. Some flowers. C. A box of chocolates.
7
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10. The English traveller knew he would _____in two days.
A. be back home B. buy some food to eat
C. travel everywhere in Europe
11. The first day he __ to have lunch and dinner.
A. stole B. sold C. refused
12. He didn’t go to the dining hall because .
A. he was ill B. he was not leeling well
C. he has no money
MWTEoRMEL EEEI3E 16,
13. Miss Rogers was teaching her class
A. to hear sound B. about sound C. about electricity
14. Miss Rogers raised her question because she wanted to know whether
A. her students could hear her from 75 {eet away
B. sound waves were slower than electricity
C. her students had grasped her lesson
15. Tom thought that electricity was
A. slower than sound waves B. not so fast as sound waves
C. faster than sound waves
16. Whose answer is correct according to the law of physics?
A. Tom’s. B. Kate’s. C. Both A and B.
R I0RME EESE 17E 208,
17. What did the woman have to do in the morning?
A. She fed the chickens. B. She cleaned the bathroom.
C. She carried water of the family.
18. Why did the woman go to school on foor?
A. No bus ran in that direction.
B. The school was near.
C. Her family was poor.
19. What did the woman do every Sunday?
A. She was taken to church three times.
B. She stayed at home all day.
C. She played in the street.
20. What can we learn from what the speaker said?
A. She is a retired teacher of history.
B. She thinks children were happier in the past.

C. She lives on a farm far away from cities.
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1. Where does the conversation take place?
A. In a clothes shop. B. In a bookstore. C. In a shoe shop.
2. What are they talking about?
A. Raising fish. B. A big {ish. C. A tank.
3. What are they doing?
A. Talking about Science Museum. B. Talking about what to do today.
C. Talking about an exhibition.
4. Where does the conversation take place?
A. At the office. B. At Mr Ball's house.
C. At the door of Mrs Zhu’s house.
5. What's the relationship between them?

A. Classmates. B. Boss and worker. C. Customer and waiter,
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6. Where does the conversation take place?
| A. By a river. B. In the street. C. In a restaurant.
7. What's relationship between them?
| A. Classmates. B. Husband and wife. C. Customer and waiter.
ZHE TRV ERE M.

8. Where will the man be on Tuesday?

A. In Los Angeles. B. At ABC Company. C. At the City Hotel.
9. What will he do on the nineteenth?
A. Visit the ABC Company. B. Visit the XYZ Company.

C. Both A and B.
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10. The person who came out of the house a little later
A. was not nervous at all B. was as nervous as the others
C. was slow to put on his clothes
11. I did not lose my head at all. The sentence means .
A. no one killed me 1 was still alive
B. there was nothing wrong with my hrain
C. my brain worked still well
12. "He didn’t put on his trousers” showed.
A. He was not calm at ail B. He wasn’t nervous
C. He forgot to put on his trousers
M AEIRVE EERI13E 168,
13. What did the old woman go to the shop 1o do?
A. To choose a dress. B. To buy a dress for herself,
C. To show of {(£F) her dress.
14. The salesgirl did not make a reply
A. because she didn’t see the old woman
B. because she didn’t think the old woman had enough money for a new dress

C. for some reasor unknown in this story.

15. It was not until that woman spoke for the time that the salesgirl said
something.
A. first B. second C. third

16. When the old woman said. “I am too old to see well”. she
A. meant to say that she really had a poor eyesight
B. wanted the salesgirl to excuse her
C. was, in fact, trying tc make the salesgirl open her mouth
A WEIOEHR.OEEI7TE20H.
17. The main idea of the paragraph is
A. how to praise an American
B. the way an American responds ({fF %) to compliments
C. the importance of compliments in American life
18. 1f you praise an American for his personal appearance he will reply
A. angrily B. impolitely C. modestly
19. The phrase “turn it aside” means “ "
A. finds it unimportant B. responds to it indirectly
C. rejects it immediately
20. Il an American is told, "you have a lovely wife”. he might reply .

A. "She is not so pretty” B. "Thank vou” C. "I'm a lucky man”

10
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I. What are they going to do roday?
A. Go to the cinema. B. Go to the theatre, C. Go to see a friend.
2. What is the woman sorry for?
A. Not buying the book in time. B. Not returning the book in time.
C. Not reading the book in time.
3. What are they talking about?
A. Running. B. Swimming. C. Sports.
4. Where does the conversation take place?

A. In the classroom. B. At the doctor’s. C. In the dining-room.

o

What’s time now?
A. About 10 = 30. B. About 3 : 10. C. About 10 : 10.
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6. When will the film begin?
A, At S p.om. B. At 6 p.m. C. At 6: 05 p.m.
7. Where will they meet?
A. At the gate of the school. B. At school.
C. At the gate of the cinema.
ZRETERME EERIIHE.

8. Where does the conversation take place?

A. At the doctor’s.  B. In the shop. C. In the restaurant.

9. How much is the change?

A. 40 yuan. B. 60 yuan. C. 20 yuan.
ZHESEMK BEXI0E 12,
10. How many languages can the man speak?

11



A. One. B. Two. C. Three.
11. What is the woman’s wish? K
A. She wishes she could speak French.
B. She wishes she could speak Japanese.
C. There were just one language in the world.
12. What’s the man’s job?
A. A doctor. B. A travelling businessman. C. A teacher.
MU BRME. EEE 13E 16 M.
13. My grandfather was ___ .
A. a kind and gentle teacher B. a headteacher
C. a teacher who gave presents to the students
14. T knew my grandfather was kind and gentle,because
A. he gave me presents and told me stories
B. he was a headteacher
C. he told me stories about how kind he was
15. When he locked at a boy in a certain way, the boy .
A. went red and could not return my grandfather’s look
B. looked at his shoes to see if-they were dirty
C. went red in the face because his shoes were dirty
16. When he receive poor work, my grandfather
A. went red in the face
B. shouted at the boy and threw his work across the room
C. threw the book at the boy
E.WEL0EME BEEITE20M.
17. The farmer was
A. a little older than his horse B. as old as his horse
C. much older than his horse
18. The farmer wanted to sell the horse __ .
A. before it was dead B. before the market was over
C. before it became too tired
19. The farmer got up behind his son because .
A. his son could not ride the horse by himself
B. the old man was told it was too hot for him to walk
C. the three old men stopped them
20. The young woman who passed them was most sorry
A. for the old farmer B. for the farmer’s young son

C. for the horse

12
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1. How many people were there in the car on the journey?

A. Five, B. Six. C. Seven.
2. Who is Jack?
A. He is their student. B. He is their son. C. He is their friend.

3. What can we know from what the two speakers said?
A. The man is looking for a bus stop.
B. The man is asking the time.
C. The man is waiting for a bus.
4. What will Betty do?
A. She will answer the phone.
B. She will call somebady up.
C. She will call on somebody.
5. What are the two speakers talking about?

A. About a car race. B. About a driver. C. About an accident.
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6. Where do you suppose the conversation takes place?

A. At the restaurant.  B. At the theatre. C. At the barber shop.
7. What does the girl ask them to do?
A. Play card. B. Sit down. C. Come this way.

ZWE TBRHE . EEH 0.

8. How much does he want to borrow?

A. $33. B. $123. ' C. $103.
9. What does the Grand mean?
A. A theatre. B. A restaurant. C. A station.
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